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@ REASONING MAINS GENIUS FOR ALL BANK & INSURANCE MAINS EXAM
PUZZLE 01

There is a Georgia machine in an institution company. In machine, there are
seven different beverages buttons i.e. Tea, Masala tea, Hot coffee, Lemon tea,
Hot water, Milk and cold coffee. Each and every person in one time press get
different quantity of beverages in milliliter i.e. 150ml, 80ml, 110ml, 140ml,
118ml, 100ml and 90ml. Also there is one caretaker of machine in the company,
who fill the empty box of beverages with powder. Seven employs of the
company want to drink beverages. Employees are Aman, Mahesh, Divyaraj,
Anshul, Pooja, Swati and Saurabh. After one day caretaker exchanges the boxes
of powder in different buttons due to which when employees press beverages
button, they get different beverage. No any person get same beverage. Buttons

of beverages are arranged in order from top to bottom.

There are two buttons between Masala tea and Cold coffee buttons. Mahesh
press Masala tea but he did not get 118ml and 110ml. Saurabh want to drink
Hot water but he did not get. Milk button provide 140ml beverage. Swati got
Lemon tea. There are one button between Cold coffee and Tea buttons. Button
of Tea is not immediate below or above of Masala tea button. Swati does not
press Tea and Cold coffee button but he got 140ml. Button, which provide 110ml
is immediate below Milk button. Button, which is immediate above Masala tea
button, does not provide 110ml. Pooja drink 110ml one of the beverages but
she does not press Tea button.Swati does not press button immediate below the
button, which is pressed by Mahesh. Mahesh got the beverage, which is pressed
by the Saurabh. Divyaraj got 100ml Milk but he does not press Lemon tea button
and Tea button. Person, who presses Lemon tea button, got Hot coffee. There

are three buttons between Cold coffee button and that beverage button, which

©

is getting by when any of them press Lemon tea button.
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Hot water button is immediate above Lemon tea button. Pooja does not get Tea

REASONING MAINS GENIUS FOR ALL BANK & INSURANCE MAINS EXAM

and Cold coffee. Aman presses that button, which take place after Tea button.
Difference of quantity of beverages between Mahesh and Swati is same as

Anshul and Saurabh but that difference is not more than 20mil.
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PUZZLE 02

Eight persons - P, Q, R, S, T, U, V and W joined Delta company in 2019
on different dates viz.- 5 and 9 in different months viz.- January, March,
April, August and November. Each person has different experiences
between 6 to 20 years. At least one person but not more than two persons

joined in each month.

Not more than two persons joined before S, who joined in March. The
number of persons joined before S is one less than the number of

persons joined after T, whose experience is a multiple of 4. The one who

joined on 9th August joined four persons after V, who joined immediately
after the one whose experience is 12 years. The experience of T is four
years less than the experience of Q, who joined on 9th of a month having
an odd number of days. W joined on 5th of the month and immediately
before the one whose experience is 11 years. R’s experience is twice the
experience of S, whose experience is 8 years less than the experience of
W. The difference between the experience of Q and W is the same as the
difference between the experience of U and T. The one whose experience
IS a perfect square joined in April. P joined two persons before R. The
difference between the experience of V and S is a multiple of 10 and V
joined two persons before the one who joined on 9th of a month. The one

who joined on 9th April, whose experience is an even number.
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35 SR - P, Q, R, S, T, U, V 3R W 2019 § S(eT7T-3eRT ARl At 5 31X 9 &1
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PUZZLE 03 '

Ten persons A,B,C,D, E, F, G, H, | &J are sitting in 2 parallel rows. five
of them are sitting in row 2 facing south direction while five of them are
sitting in row 1 facing north direction in such a way that the distance
IS constant.

between two adjacent neighbours In giving sitting

arrangement each member of row faces a member of anot
all bought different number of pants & shirts (some mig

also). Cost of each shirt is Rs 1200 & cost of each pants is

ner row. They

Nt have equal

Rs 1800. Each

person bought atleast 1 pants & 1 shirts. All people spent money on

ouying pants & shirts only. No two persons spent equal amount. No one

pought more than total 7 articles.

A who spent Rs 7,200 sits 3rd to left of C who faces immediate neighbour
of B who bought 2 pants. | doesn't sit opposite to person who bought 2
pants. One of B's immediate neighbour bought 5 pants. Person who spent

RS 9000 sits opposite to person who spent Rs 8,400. E faces south &

oought 5 pants. J faces G. Neither G nor J sit immediate right of A. Person
who sits 3rd to left of G spent Rs 5,400. Immediate neighbour of person
who spent Rs 5400, spent Rs 9000. Person who spent Rs 6000 sits
oppositeto the person who bought 4 pants & 2 shirts. Total amount spent

by both the immediate neighbours of H's is Rs 15,000. Person who spent

Rs 9600 is not adjacent to person who spent Rs 9000. Only 1 person spent
more than | who bought 1 shirt. Number of pants bought by J & Fis equal.
Difference in number of pants bought by H & Fis 1. D bought 3 shirts.
Number of pants bought by D is equal to number of pants bought by G.
Amount spent by G is not the least. Number of pants bought by A & C is

equal. Number of Pants bought by G is half of number of shirts bought

©
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JAfRI A, B, C, D, E F, G, H, | 3% J 2 Ui Ufeadl § 96 81 374 § Uid gféor
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Y3181 H & gl Fidrear USRIl §RT @d &1 75 $d 1R 15,000 T g1 9600
SUY W B 91T AT 9000 FUY WY B3+ aTd AfGd & AT ol 6| Had 1
aafad 3 1 9 3ife T forar o= 1 =1d @it 1 J ok F gRT Wit 715 U &1 J@n
SRTER g1 H 3R F gRT @14 G gRT @l 7 el &1 6@ ¢ §RT @RI 75 X1elf ot
=T BT 3iTeht B
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ANSWER
PUZZLE 01
Employees BeveragesBottom Beverages Quantity
Anshul Tea Cold cofee 80ml/90ml
Swati Milk Lemon tea 140 ml
Pooja Cold cofee Masala tea 110 ml|
saurabh  Hot water Tea 80mIl/90ml
Aman Lemon tea Hot coffee 118 ml
Mahesh  Masala tea Hot water 150 ml
Divyaraj Hot coffee Milk 100 ml
PUZZLE 02
9 January Q 12
5 March V (17
9 March S |7
9 April P 16
5 August T 8
9 August R (14
5 November W (15
9 November U (11
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PUZZLE 03

11400 16200 g400 9600 6600

SPE*ZS SP+1S 2P+4S 4P+2S 3P +1S

2P+3s 1P+3S X435 2pi2s 1P+5s
7200 5400 6000 7800
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CODING-DECODING

REASONING MAINS GENIUS FOR ALL BANK & INSURANCE MAINS EXAM

In a certain code language following statements are coded as:

“Race Down The King Cow” is coded as “$&* $#* @#¥ @Q&O @+#€".

“How Rope Marry Catch Town” is coded as “"@&© @%E£ $#* $#¥ @%>".

“Cash Song Few Sky Copy"” is coded as “@#> $#€ @#£ $&L
(Note: All the given codes are three symbol codes only)
1) How “Fency King” coded in the given code language?
a) @#€ @%*

b) @#€ @&E

C) @%E @#E

d) @%£E $&*

e) None of these

2) What comes in the place of blank space?

a)@&Lt

b) $%©

) @O

d) $&>

e) None of these

3) Which of the following phrase is coded as “$8&* @#£"?
a) Road Cash

b) Strong Road

c) Copy Cow a l@l
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d) The Copy

e) None of these

4) Which of the following combination is not true?
a) Race - $#*

b) Copy - @#£

c) How - @&©

d) Rope - $#*

e) Crew - $&©

5) How “Cow Dung” is coded in the given code language?
a) @#O @#¢€

b) @&O @#€

C) @O @%€

d) @%O $#€

e) None of these

DATA SUFFICIENCY - NEW TYPE MAINS

A#B means B is the father of A
A@B means A is the daughter of B
A&B means B is the son of A

A$B means A is the mother of B

A%B means A is the husband of B

|
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Along with the given two statements, three statements are given you have
to decide whether the data provided along with the three statements are
sufficient to answer the question. The statements i, ii, iii given below can
be used along with the above two statements |, 1l but cannot be combined

together. The statements |, Il above are combined.
1) Statement |: L%C$G; M#R%B$L
Statement Il: S@N$R; S&D#Q

How is M related to S?

:K@H%M; F$Q#T

Il: V@L#R%B$M

I1l: S8J#Q; B$L#R&M

A. Only ii

B. Only i

C. Either only i or only ii

D. Either only i or only iii

E. Only iii

2) Statement I: L%C$G; M#R%BSL
Statement II: S@N$R; S&D#Q

Who among the following is the son of L?
I:S@N$R%B$L%C

ll: Y@L%C&G; Q&D

I1l: NSR&L; G#L

A. Only i a
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B. Only i
C. Either only i or only ii
D. Either only 1 or only iii

E. Only iii

3) Statement I: L%C$G; M#R%BSL
Statement II: S@N$R; S&D#Q

Who among the following is the father of Q?
1:T&Q%S$I@Q

II: O@F$Q&D; W%N$S

l1l: N&R%B$L; D#Q%S

A.Only i

B. Only ii

C. Either only i or only ii

D. Either only ii or only i

E. None of these

|
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ANSWER

CODING-DECODING

Directions (1-5):
1) Answer: C
2) Answer: C
3) Answer: D
4) Answer: E
5) Answer: B

For the first code: If the first letter of the word is from the first half of the
English alphabetical series then it is coded as “"@", else if the first letter of
the word is from the second half of the English alphabetical series then it

is coded as “$".

For the second code: the number of letters in the word: &= 3, # = 4, and

% = 5.

For the third code: the last letter of the word is coded as: E =* H =>,Y =
£fFN=¥ W=0,and G = €.
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DATA SUFFICIENCY - NEW TYPE MAINS

1) Answer: D
2) Answer: B
3) Answer: E

GIVE YOUR FEEDBACK IN COMMENT SECTION

cXAM

Genius
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